Homework 10 Solutions

 $\binom{1}{2} \alpha - \frac{4}{2-2} = \frac{4}{2-(2-1)} = 2 \frac{1}{1-\frac{2}{2}} = 2 \sum_{n=0}^{\infty} \left(\frac{2-1}{2}\right)^n = \sum_{n=0}^{\infty} \frac{1}{2^n} (2-1)^n,$ where $\left|\frac{2-1}{2}\right| < | \implies |2-1| < 2$

b) $c_{eb}(i_{2+1}) = \sum_{n=0}^{\infty} (-1)^n (i_{2+1})^n = \sum_{n=0}^{\infty} (-1)^n i^{2n} (2-i)^{2n} (2n)!$ $= \sum_{n=0}^{\infty} \frac{(-1)^{2n}}{(2n)!} (2-i)^{2n} = \sum_{n=0}^{\infty} \frac{(2-i)^{2n}}{(2n)!},$ where lizzel < so => /z-i/<so

Thus f is analytic in the disk 12/ < The and by Taylor's thm, the Maclamin series the serves converges to tan 7.

b) f(0)=0 f'(0)= sec2(0)= 1 $f'(0) = 2 \sec^2(0) \tan(0) = 0$ f"(0) = 4 sec(0)ten2(0) + 2 sec(0) = 7

Thus the first 2 nonzero terms are $f'_{(0)} = 2$ and $f^{(3)}_{(0)} = 2^3 = \frac{2}{3!} = \frac{1}{3} = \frac{2}{3} = \frac{1}{3} = \frac{2}{3}$.

3) The Maclaunin series for
$$2e^{2^{2}}$$
 is $2e^{2^{2}} = 2\left(\sum_{n=0}^{\infty} \frac{(2^{2}n)}{n!}\right) = \sum_{n=0}^{\infty} \frac{2^{2n+1}}{n!}$.
The general formula is $\sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} z^{n}$, where $f(2!=2e^{2^{2}})$.
Since $\sum_{n=0}^{\infty} \frac{z^{2n+1}}{n!}$ has no ever power terms,
The (2nth term of the series is $\frac{f^{(2n)}(0)}{(2n)!} z^{2n} = 0 \cdot z^{2n}$
 $\Rightarrow f^{(2n)}(0) = 0$ for all $n \ge 0$
The (2ntl)th term of the series is $\frac{f^{(2n+1)}(0)}{(2n+1)!} z^{2n+1} = \frac{1}{n!} z^{2n+1}$
 $\Rightarrow f^{(2n+1)}(0) = (2n+1)! = (2n+1)(2n)(2n-1) - - (n+1)$

4) a) $\frac{1}{2^{2}} \cosh 2 = \frac{1}{2^{2}} \sum_{n=0}^{\infty} \frac{2^{2n}}{(2n)!} = \sum_{n=0}^{\infty} \frac{2^{2n-2}}{(2n)!} , \quad 0 < |z| < A$

b) $\frac{d}{3\tilde{z}_{+}^{2}4\tilde{z}_{-}^{2}}$ is analytic everywhere except $3\tilde{z}_{+}^{2}4\tilde{z}_{-}^{2}$ when $3\tilde{z}_{+}^{2}4\tilde{z}_{-}^{2}2\tilde{z}_{-}^{2}3\tilde{z}_{+}4\tilde{z}_{-}^{2}=2\tilde{z}_{+}^{2}3\tilde{z}_{+}4\tilde{z}_{-}^{2}=2\tilde{z}_{+}^{2}3\tilde{z}_{+}4\tilde{z}_{-}^{2}$ Thus there are lowent series exponsions on 0x121< 3 and on 121>3 We must consider each region separately.

• When
$$0 < [2] < \frac{4}{3}$$
:
 $\frac{4}{3z^3 + 4z^2} = \frac{4}{z^2} \frac{1}{3z - 4} = -\frac{1}{z^2} \frac{1}{1 - (-\frac{3}{4}z)}$
 $= -\frac{1}{z^2} \int_{n=0}^{\infty} (-\frac{3}{4}z)^n = \int_{n=0}^{\infty} (-\frac{1}{4})^{n+1} \frac{3^n}{4^n} z^{n-2}$

• When
$$|Z| > \frac{4}{3}$$
, then $|\frac{1}{2}| < \frac{3}{4} \Rightarrow |\frac{4}{32}| < 1$
 $\Rightarrow \frac{4}{32^{2}+42^{2}} = \frac{4}{Z^{3}} \frac{1}{3+\frac{4}{2}} = \frac{4}{3Z^{3}} \frac{1}{1-(-\frac{4}{32})} = \frac{4}{32^{3}} \sum_{n=0}^{\infty} \left(\frac{-4}{32}\right)^{n}$
 $= \sum_{n=0}^{\infty} \frac{(-1)^{n} 4^{n+1}}{3^{n+1} 2^{n+3}}$

$$C) \quad \exists in\left(\frac{1}{2^{3}}\right) = \sum_{n=0}^{\infty} (+1)^{n} \frac{\left(\frac{1}{2^{3}}\right)^{2n+1}}{(2n+1)!} = \sum_{n=0}^{\infty} \frac{(+1)^{n}}{(2n+1)! 2^{6n+3}}, \quad 0 < |z| < A$$

5.) a)
$$\sum_{n=0}^{\infty} \frac{z^{2n-2}}{(2n)!} = \frac{1}{z^2} + \frac{1}{z} + \frac{z^2}{4!} + \frac{z^4}{6!} + \cdots$$

b) On the deleted neighborhood
$$0 < |z| < \frac{4}{3}$$
,

$$\sum_{n=0}^{\infty} \frac{(-1)^{n+1} 3^n}{4^n} z^{n-2} = -\frac{1}{2^2} + \frac{3}{4} \frac{1}{2} - (\frac{3}{4})^2 + (\frac{3}{4})^3 z + \cdots$$

$$\implies 2=0 \text{ is a pole of order } Z.$$

c) $\sum_{n=0}^{\infty} \frac{(+1)^n}{(2n+3)! \cdot 2^{6n+3}}$ has infinitely many terms with negative exponents $\implies 2=0$ is an essential singularity,

(e) a) Since every point on the negative real axis is a singularity of Logz, Logz is not analytic on any annular neighborhood of O. So, Laurent's theorem doesn't apply. b) No, for the same reason as for part (a), c) Yes. If Zo=Oisanypoint not on the negative real axis, then Logz is analytic at Zo. Thus, by definition, logz is analytic on an E-neighborhood of Zo, 12-Zo1<E. By Taylor's thm, logz has a Taylor Serves representation for all Z in 12-Zo1<E.